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Problem 1
13 14 15 16 17 18 19 20 21 22 23 24

=
x

score: 0
pip: 115

Unlimited Game
Jacoby Beaver

pip: 133
score: 0

score: 2

pip: 114

7 point match

pip: 141

score: 0
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score: 1
pip: 139

5 point match

pip: 146
score: 0

score: 4

pip: 66

7 point match

pip: 90

score: 3
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Problem 5

score: 5
pip: 149

7 point match

pip: 162
score: 1

score: 3

pip: 92

7 point match

pip: 156

score: 3
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Problem 7
13 14 15 16 17 18 19 20 21 22 23 24

score: 1

pip: 131

5 point match

pip: 128

score: 0

score: 1
pip: 169

7 point match

pip: 109
score: 3
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